

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 5

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SHC 6473T

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BONNET (CONSISTENT)	BENT	979.00	979.00
1	BONNET INSULATOR (CONSISTENT)	SERVICEABLE	219.00	-
1	BONNET LOCK (CONSISTENT)	BENT	36.00	36.00
1	BONNET LIFTER (CONSISTENT)	SERVICEABLE	70.00	-
2	BONNET HINGES O/S & N/S @ \$23.00 (CONSISTENT)	BENT	46.00	46.00
1	BONNET WEATHERSTRIP (CONSISTENT)	SERVICEABLE	58.00	-
1	BONNET CABLE LONG (CONSISTENT)	TORN	25.00	25.00
1	BONNET CABLE SHORT (CONSISTENT)	TORN	15.00	15.00
1	BONNET STRIP SEAL CENTRE (CONSISTENT)	SERVICEABLE	23.00	-
2	BONNET STRIP SEAL N/S & O/S @ \$25.00 (CONSISTENT)	SERVICEABLE	50.00	-
1	BONNET GRILLE (CONSISTENT)	CRACKED	385.00	385.00
1	WIPER GARNISH (CONSISTENT)	CRACKED	368.00	368.00
1	FRONT WINDSCREEN (CONSISTENT)	CRACKED	801.00	801.00
1	FRONT WINDSCREEN MOULDING (CONSISTENT)	NECESSARY	87.00	87.00
1	SUPPORT PANEL (CONSISTENT)	BENT	645.00	645.00
1	SUPPORT PANEL TOP COVER (CONSISTENT)	CRACKED	40.00	40.00
1	FRONT BUMPER STRIP (CONSISTENT)	CRACKED	28.00	28.00
1	FRONT BUMPER (CONSISTENT)	CRACKED	531.00	531.00
1	FRONT BUMPER EMBLEM (CONSISTENT)	NECESSARY	44.00	44.00
1	FRONT BUMPER CENTRE GRILLE (CONSISTENT)	CRACKED	174.00	174.00
1	FRONT BUMPER LOWER STIFFER (CONSISTENT)	BENT	134.00	134.00
1	FRONT BUMPER TOW HOOK COVER (CONSISTENT)	MISSING	14.00	14.00
1	FRONT BUMPER LIP (CONSISTENT)	CRACKED	52.00	52.00
1	FRONT BUMPER INNER SPONGE (CONSISTENT)	TORN	110.00	110.00
1	FRONT BUMPER REINFORCEMENT (CONSISTENT)	BENT	328.00	328.00
1	FRONT BUMPER UPPER REINFORCEMENT (CONSISTENT)	BENT	40.00	40.00
2	FRONT BUMPER O/S & N/S SIDE RETAINER @ \$16.00 (CONSISTENT)	CRACKED	32.00	32.00
2	FRONT BUMPER O/S & N/S UPPER BRACKET @ \$16.00 (CONSISTENT)	CRACKED	32.00	32.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	FRONT BUMPER O/S & N/S SUPPORT BRACKET @ \$16.00 (CONSISTENT)	CRACKED	32.00	32.00
2	N/S & O/S HEADLAMP @ \$1028.00 (CONSISTENT)	CRACKED	2,056.00	2,056.00
2	FRONT BUMPER O/S & N/S FOG LAMP COVER @ \$66.00 (CONSISTENT)	N/S SERVICEABLE / O/S MISSING	132.00	66.00
2	FRONT BUMPER O/S & N/S PROTECTOR @ \$51.00 (CONSISTENT)	N/S SERVICEABLE / O/S MISSING	102.00	51.00
2	HORN @ \$65.00 (CONSISTENT)	CRACKED	130.00	130.00
1	FRONT O/S FENDER (CONSISTENT)	BENT	384.00	384.00
1	FRONT O/S FENDER INNER SHIELD (CONSISTENT)	TORN	120.00	120.00
1	FRONT O/S WHEEL HOUSE (CONSISTENT)	BENT	484.00	484.00
1	FRONT O/S CHASSIS MEMBER (CONSISTENT)	BENT	734.00	734.00
1	AIR CON CONDENSER (CONSISTENT)	BENT	805.00	805.00
1	AIR CON DISCHARGE (CONSISTENT)	TORN	129.00	129.00
1	AIR CON LIQUID PIPE (CONSISTENT)	TORN	215.00	215.00
1	SUCTION AND LIQUID TUBE (CONSISTENT)	TORN	619.00	619.00
1	RADIATOR (CONSISTENT)	BENT	669.00	669.00
2	RADIATOR TOP MOUNTING @ \$18.00 (CONSISTENT)	TORN	36.00	36.00
1	INTERCOOLER (CONSISTENT)	BENT	800.00	800.00
1	BLOWER ASSY (CONSISTENT)	CRACKED	596.00	596.00
1	WASHER TANK MOTOR (CONSISTENT)	CRACKED	48.00	48.00
1	WASHER TANK (CONSISTENT)	CRACKED	47.00	47.00
1	RADIATOR UPP HOSE (CONSISTENT)	TORN	78.00	78.00
1	RADIATOR LOWER HOSE (CONSISTENT)	TORN	64.00	64.00
1	ENGINE UNDER COVER - FRONT (CONSISTENT)	CRACKED	44.00	44.00
1	ENGINE UNDER COVER - N/S (CONSISTENT)	CRACKED	144.00	144.00
1	ENGINE UNDER COVER - O/S (CONSISTENT)	CRACKED	173.00	173.00
1	AIR CLEANER BOX (CONSISTENT)	CRACKED	483.00	483.00
1	AIR DUCT (CONSISTENT)	CRACKED	210.00	210.00
1	WIRING ASSY (CONSISTENT)	SERVICEABLE	3,672.00	-
1	FRONT O/S LOWER ARM (CONSISTENT)	BENT	439.00	439.00
1	FRONT O/S SHOCK ABSORBER (CONSISTENT)	BENT	330.00	330.00
1	FRONT O/S BALL JOINT (CONSISTENT)	SERVICEABLE	59.00	-
1	FRONT O/S TIE ROD END (CONSISTENT)	SERVICEABLE	61.00	-



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT O/S KNUCKLE BEARING (CONSISTENT)	BENT	157.00	157.00
1	FRONT O/S STABILIZER LINK (CONSISTENT)	BENT	86.00	86.00
1	FRONT O/S KNUCKLE ARM (CONSISTENT)	BENT	547.00	547.00
1	FRONT O/S RIM (CONSISTENT)	BENT	246.00	246.00
1	FRONT O/S WHEEL COVER (CONSISTENT)	GRAZED	116.00	116.00
1	O/S ROCKER PANEL GARNISH (CONSISTENT)	CRACKED	286.00	286.00
1	FRONT DRIVER SEAT (CONSISTENT)	BENT	1,837.00	1,837.00
1	BATTERY TRAY (CONSISTENT) (ADDITIONAL)	BENT	52.00	52.00
1	OIL SUMP (CONSISTENT) (ADDITIONAL)	CRACKED	323.00	323.00
1	COMPRESSOR (CONSISTENT) (ADDITIONAL)	CRACKED	1,991.00	1,991.00
1	STARTER (CONSISTENT) (ADDITIONAL)	CRACKED	152.00	152.00
1	PULLEY (CONSISTENT) (ADDITIONAL)	BENT	58.00	58.00
1	V-BELT (CONSISTENT) (ADDITIONAL)	TORN	91.00	91.00
1	TENSIONER (CONSISTENT) (ADDITIONAL)	TORN	139.00	139.00
1	ALTERNATOR PULLEY (CONSISTENT) (ADDITIONAL)	CRACKED	38.00	38.00
1	DAMPER PULLEY (CONSISTENT) (ADDITIONAL)	CRACKED	82.00	82.00
1	FRONT O/S DRIVESHAFT (CONSISTENT) (ADDITIONAL)	BENT	894.00	894.00
1	STEERING RACK (CONSISTENT) (ADDITIONAL)	BENT	866.00	866.00
1	CROSS MEMBER (CONSISTENT) (ADDITIONAL)	BENT	789.00	789.00
1	INSULATOR ASSY - STRUT (CONSISTENT) (ADDITIONAL)	TORN	105.00	105.00
	LESS 10% DISCOUNT		-2,811.60	-2,378.70
			25,304.40	21,408.30
	SPECIAL NETT ITEMS			
1	FRONT NO. PLATE WITH CASING (SN) (CONSISTENT)	MISSING	50.00	50.00
1	FRONT BUMPER CLIPS (SN) (CONSISTENT)	NECESSARY	48.00	48.00
2	FRONT N/S & O/S HEAD LAMP LOWER CLIP @\$6.00 (SN) (CONSISTENT)	NECESSARY	12.00	12.00
2	FRONT N/S & O/S HEAD LAMP SIDE CLIP @\$3.00 (SN) (CONSISTENT)	NECESSARY	6.00	6.00
1	SET BONNET INSULATOR CLIPS (SN) (CONSISTENT)	NOT NECESSARY	52.00	-
1	SET WIPER GARNISH CLIPS (SN) (CONSISTENT)	NECESSARY	48.00	48.00
1	BATTERY (SN) (CONSISTENT)	SERVICEABLE	180.00	-
1	COOLANT 6L (SN) (CONSISTENT)	NECESSARY	80.00	80.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	SET FRONT O/S FENDER INNER SHIELD CLIPS (SN) (CONSISTENT)	NECESSARY	24.00	24.00
1	FRONT O/S FENDER STICKERS (SN) (CONSISTENT)	NOT NECESSARY	30.00	-
1	SEALANT (SN) (CONSISTENT)	NECESSARY	50.00	50.00
1	SET O/S DOOR STICKERS (SN) (CONSISTENT)	NECESSARY	100.00	100.00
1	TYRE (50%) (SN) (CONSISTENT)	PUNCTURE	200.00	100.00
1	SUNDRY (SN) (CONSISTENT)	NECESSARY	50.00	20.00
			930.00	538.00
	LABOUR			
	TOWING FEE.		50.00	50.00
	TO CHECK FOR WIRING AND TO FOCUS HEAD LAMPS.		40.00	20.00
	TO DISMANTLE AND REPLACE THE FRONT WINDSCREEN.		120.00	100.00
	TO DISMANTLE / REFIT THE INNER GARNISHES, INNER LININGS, INNER TRIMS, CUSHION SEAT, CARPET, ETC TO FACILITATE REPAIRS.		180.00	50.00
	TO DISMANTLE AND REFIT THE DASHBOARD TO FACILITATE REPAIR ON FRONT O/S WHEEL HOUSE.		450.00	100.00
	TO DISMANTLE AND REPLACE THE FRONT O.S UNDERCARRIAGE.		250.00	100.00
	TO LIFT ENGINE TO FACILITATE ON THE FRONT O/S WHEEL HOUSE.		450.00	150.00
	TO LABOUR CHARGE FOR DISMANTLE AND RENEW THE ACCIDENT DAMAGED PARTS. TO CUT / HEAT AND WELD ON THE FRONT O/S WHEEL HOUSE. INCLUDING KNOCKOUT, STRAIGHTEN, REPAIR, RESHAPE AND ADJUST OF THE FRONT O/S DOOR, FRONT N/S FENDER, FRONT N/S CHASSIS ETC.		2,000.00	1,600.00
	TO PUTTY AND SPRAY PAINTING ON BONNET, BONNET GRILLE, FRONT BUMPER, FRONT N/S & O/S FENDER, FRONT O/S WHEEL HOUSE, FRONT O/S DOOR, FRONT N/S & O/S CHASSIS MEMBER.		1,800.00	1,440.00
	TO APPLY RUSTPROOFING ON THE REPAIRED AND REPLACED PANELS.		300.00	100.00
			5,640.00	3,710.00
	GRAND TOTAL		31,874.40	25,656.30



Page No.:5 of 5

RECOMMENDED COST OF LUMP SUM REPAIRS		20,500.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CC4/ASM18021307/K1wb3s2

KALVIN ANG WEI KUN

Automotive Assessor / Investigator

moni

HO LEONG CHUAN

Automotive Assessor